Course, B. Tech in Civil Engineering
Subject Name: Engineering Geology
Max Marks 60 Date: 12/12/2018

'~ Instructions to the Students'
1. Solve ANY FI VE questions out of the following.
2.

S

Q.1; All questions are compulsory.

A). Write a note on interior of the earth with ne@ﬂ' ¢

B),‘E_? Explam types of volcanoes and its produew
3 -m AN

C). Write note on type of transportatlon hy wmef

i 4452706A15C42C8064EAG682DAFEEFFB4
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12

12



Q4
A)

Solve any Three of the following.

construction jobs?

B) What are the types of Aquifer with peat labeled diagram?
C) Explain various dressing methods of building stones.

D)

Q.5 Solve any Two of the folldwing.

A) Explain  electric  resistivity

B)

0

Q.6
A)

B)

C) Write a note on objecti

structures.
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018

Course: B, Tech in Civil Engineering Sem: I
Subject Name: Building Construction  Subject Code: BTCYC305
Max Marks: 60 Date: 10/12/2018 Duratien: 3 Hr,

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.
2. The level question/expected answer as per OBE or the Course Outcome (CO) on which the
question is based is mentioned in () in front of the question. ’
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention-it clearly.
5. All sketches should be labeled, neat and proportionate: .

T (WevellCO) Marks
Q.1 Solve Any Two of the following, SR

A) State the comparative merits and demerits of stone. rﬁasonry and.brick masonry? (CO1 6
B) Draw neat sketches, showing plan of two comecutlve courses of 1 '/2 bnck thlck corner (€O 6
of wall in English bond? Gr L
C) What are the general principles observed in bnck masonq_ G (CODn 6
Q.2 Solve Any Two of the following,
A) What are the chief ingredients of: plam cement concrete" Describe in detail the ‘ (CO2) 6
properties of each? S e ‘
B) Describe the propertles of frth and hardened concrete" B AT a (CO2) 6
C) Explain the role of ddmlxtures in concrete‘? ‘ ‘ o o (CO2) 6
Q.3 Solve Any One of the following. » D
A) Sketch a semicirculér 1n‘showmg all techmcal terms used m arch" Sketch the entire (CO3) 12
arrangement showmg the details-of centering work?" ‘
B) Explain Brxck hntel remforced ooncrete lmtel and steel lmtel thh sketches" (CO3) 12
Q4 Solve Any Two of the followmg ‘
A) Draw a neat sketch of ame and Panelled door? ( plan sectlon & elevatlon ) (CO3) 6
B) - Draw a neat sketch of L"vu‘vered window? .. - (CO3) 6
O t Draw a neat Sketch of wooden stair showmg all components? (CO3) 6
Q.5 “.Solve Any One of th SO
A) Exp»l.am king post__truss "d“itsjoi‘nts with neat sketches? ‘ (CO3) 12
'B) bExplain Queen po"s‘t tr ":and its joints_fwith neat sketches? (CO3) 12
6 :"‘v,,»Sol‘ve Any two of th dlflo‘v‘fvi'i\lg;-" .
‘Explain merits and dern fits of prefabrication? (CO4) 6
B ";,Descfi-bef'\géﬁous typ ‘;“prefabrication? Explain the term ‘Tolerance ‘? (CO49) 6
3 “Describe various guidelines for transportation and erection in prefabrication? (CO9 6

hk¥ End k%
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSFE
End Semester Examination — Winter 2018

Course: B. Tech in Civil Engineering Sem:

Subject Name: m:.d&m:n-—
Max Marks: 60 Date: 07/12/2018

Instructions to the Students:
1. Solve ANY FIVE gquestions our of the following.
2. The level questiowexpected answer as per OBE orthe Cours
question is based is mentioned in front of the qu
3. Use of non-programmable scientific caleulators'
4. Assume suitable data wherever necessary and mention

Q.1 Solve Any Two of the following,

12

CO1 06

o, Was suspected.

Find correct bearings of the lines by
calculating interior angles.

4452706 A15C42C8064EA 682D AFR6FIEY
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERS
End Semester Examination — Winter 2018
Course: B. Tech in Civil Engineering
Subject Name: Surveying-1
Max Marks: 60 Date: 07/12/2618

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.
2. The level question/expected answer as per OBE orthe:Cotr
question is based is mentioned in front of the question.
3. Use of non-programmable scientific calculators is:allowe.
4. Assume suitable data wherever necessary and mention'

" Marks
Q.1 Solve Any Two of the following. 12
A) 06
4) Road Bridg
5) Junigle, ¥
6) Raifwa
S 06
a6
12
06
e obse n«mnm bea Emw ofthe lines of a traverse ABCDEA with a CO1 06

1 Was suspected.

Find comect bearings of the lines by
calculating interior angles.

4452706 A15C42C8064E A682D AFRGF3ES
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

'End Semester Examination — Winter 2018

Course: B. Tech in Civil Engineering Sem: N1
Subject Name: Hydraulics 1 Subject Code BTCVC303
Max Marks: 60 Date: 05-12-2018 % Duratlon 3 Hr,

Instructions to the Students:
1. Solve all questions out of the following. el
2. The level question/expected answer as per OBE or the Course Outcome (CO) on whzch the
question is based is mentioned in front of the questzon KA L
3. Use of non-programmable scientific calculat
4. Assume suitable data wherever necessary and ‘me

(Level/CO)

Q.1 Solve Any Three of the following. : o
A) Explain the different applications of Fluid Méchanics in Civil Engineering. cOo2
B) Define: Surface Tension and Bulk mbdulus Give proper unit of each. €02
C) Calculate the dynamic viscosity of oil, Wthh is used for lubrlcatlon between a square CcOo2

plate of size 0.8 x 0.8 m’; and plane W1th angle of mclmatlon 30° The- wexght of

square plate is 294.5 N and 1t slldes down the 1nc]1ned plane ?thh umform velomty of

CO2

»uﬂ‘;c;’l‘\/lanometer ii) Bourdon Cco2
Tﬁbc“‘Pre_:s,‘smev(;}auge o

B). .. Prove that the cénter of pressure of a vertical plane surface is always below the center CO3

CcOo3

cOo3
CcOo3

Is-th ﬂow possible?
- Determine potential function,

.~ Determine corresponding stream function,

4452706 A15C42C8064EA682DAF497193

Marks

04

04
04

04

06

06

66

06
06



Q4
A)

B)

0

Q.5
A)

B)

©)

Solve Any Two of the following
Derive an expression for point velocity distribution for laminar flow betwb\e;n £

fixed parallel plates.

Explain with neat sketches the difference between hydro dynamically: mooth& S 02 - 06
rough boundaries. AR »

Explain Prandtl’s Mixing Length Theory and Nikuradse’s expenment

Solve Any Two of the following. : - o~
Write short note on Non-dimensional numbers — 1) Froude number -ii) Weber - B S C03 06

Number iii) Reynold’s Number.

Explain concept of equivalent pipe & Derive Duplt 8 equatlo A RS o6

T co2 06

4452706A1 5C42C8064EA682DAFA497193



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

End Semester Examination — Winter 2018

Course: B. Tech. in Civil Engineering © Sem: I
Subject Name: Mechanics of Solids oo Subjeet Code: BTCVC302

Date: 03/12/2018 Max Marks: 60 . 'Duration: 3 Hrs

Instructions to the Students:

1. Solve ANY FIVE questions out of the following. ‘ '

2. The level question/expected answer as per OBE or the Coarse Outcome ( CO) on whtch the
question is based is mentioned in ( ) in front of the question. .. '

3. Use of non-programmable scientific calculators is allow:

4. _Assume suitable data wherever necessary and mentzon

COs Marks

Q.1 Solve Any Two of the following:
A) Define the following properties of materialﬁﬁ Elaéticity, Ductility, and Brittleness. Col (6)

8) A metal wire of diameter 3 mm is subjected to an ax1al tensﬂe force of 2 kN The extension  COl (6)
measured was 4 mm over a length of: 1500 mm Fmd the modulus of elastlclty of the metal.
Using the calculated value of ‘modulus

) ;“elastlmty, find the maximum ax1a1 tensile force

col  (6)
co2  (4)
Co2,  (4)
CO4

) A'Bbzls‘“lo m long. It carries a uniformly distributed load of 20  CO2 (8)
d tance of Sm from the left end A, a clockwise moment of 50 kN-m at 5m

‘ﬂbendmg moinent at 1mportant locations and draw S.F.D. and B.M.D for the beam.

Page 1/2
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Q.3

A)

B)

Q4

A)

B)

Q.5

A)

B)

Q.6

A)

, B\)‘_

Solve the following.

A masonry pillar square in section 600 mm x 600 mm is subjected to pomt 10a$ 1800 L (6)
KN at an eccentricity of 200 mm along one of the centroidal axis of cro N
stresses at four corners. Also determine the maximum eccentr101ty v_1f th‘e penn1551bl

tensile stress in masonry is limited to 2 N/mm?.

Find analytically Principal stresses and Principal planes for an- element The elem 't‘:;ls C01 (6):
subjected to two mutually perpendicular stresses 100 N "‘;m2 and 50 N/mm:\both 'tensﬂe m CO4 S
X and Y direction, respectively along with a shear stres ‘of 30 N/mm (upwards ) Ang
of 100 N/mm? stress). Find also the maximum shear stress
Solve the following.

v (@)

"ee point. loads 50 kN 100kN, CO3  (8)
vely mleft"‘support Caleulate the
deflection under each 1oad Take E 2 x 05 N/mm andI 20 X 108 fnm

Answer the following.v S

Obtain an expression for Eq\lert’s: cr1t1calloadfor olumnhmgedat both the ends. co4  (6)
Using Euler’s equation for long columns, determine the “c_r‘i_tvifeal stresses for a compression €04 6)
member of slenderness ratio 80, 120, 160, and 200, The compression member has

following end condmons (@) both ends hmged and (11) one ‘end hinged and other end fixed.

E= 2x105N/mm o B ST

Answer the fou-owmg; e

AN Col1, (6)
Explam The Rdnkme S fallure theory o4

A c1rcu1ar bar is subjected to a tensxle force of 20 kN along with a transverse shear force of COl, (6)

10 kN. Determme the dlameter of bar using Maximum Principal Stress, Maximum %4
Principal Strain, and Maximum Shear Stress failure theory. Take: Yield strength = 250
MPa, factor of safety = 2, and Poisson’s ratio = 0.3
T T L L2 k] End Of Paper**‘*********** ’
Page 2/2
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY 'LONERE

End Semester Examination ~ Winter 2018
Course: S.Y.B. Tech (All Branches)

Subject Name: Engineering Mathematics-111
Max Marks:60 Date:30/11/2018

Instructions to the Students:
1. Attempt Any Five questions of the following .All questz
2. Use of non-programmable scientific calculators is ailp
3. Figures fo the right indicate full Marks.

a) Show that,

J‘msinat
0 t

b) Find the Laplace transform o

¢) Find the Laplace transfo

[x] > 1.

E66B3217D5B275ABOCBD2EOBO2ESACTI

4]

141

4]

14l

4]

4]

141

141




Q.4.

Use method of separation of variables to sol

Using Parseval’s Identity , prove that

1|

o tz
_— dt .
L (t2 + 1)? 4

Solve the partial differential equation

(x2 —yz)p + (2 —2x)q =

du_, o, th
PP TR given

Find the temperature in bar of le

[4l

constant . * 14]

If the stream

14]
141

4]
[4]

hi C is the circle jz| = 1.

% de ke End kkk

E66B3217D5B275ABOCBD2E0BO2ESACTI
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Course: B. Tech
Subject Name: Renewable Energy Sources
Max Marks:60 Date: 12/12/2018

. . Instructions to the Students:

1. Solve ANY FIVE Questions out of the following.
2. Figures to the right indicate full marks.

3 Draw neat diagrams wherever necessary.

correct answer for each.

1. The following is (are) the visible 51gn<(§)'of ]
earth’s interior., A
a) Volcanoes
b) Geysers
¢) Hot springs
d) All of the above

'g\éffic;eqc

o @lytlc conversion
s,kx(?packmg

4452706 A15C42C8064EA682DAFEED688



Q.2 Explain the following. (Attempt any Three)
A. Non-conventional Energy sources
B. Solar pond electric power plant
C. Fluidized bed gasifier
D.

Float wave power machine

Q.3
Explain briefly with neat diagram ﬂoati@él
Y
Q4
QS

s, e
has a raxl\;g%«:gg: ]?W:}
3m. Cajculate the

5

4452706A15C42CB064EAG82DAFEEDGSS
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LGNERE
End Semester Examination — DEC 2018 4 | e
Branch: B. Tech Semester IH '

Subject Name: Electronic devices and Circuits Subject Code‘ BTEXC"%OB
Max Marks: 60 Date:- 05/12/2018 Duration:- 3 Hrs.

Instructions to the Students:

1. Each Question Carries 12 Marks

2. Attempt any five questions of the following . - (D

3. Mlustrate your answers with neat sketches, dlagram ctc wherevcr necessary

4. If some part or parameter is noticed to be m1ssmg, you may appm;maidy assume n
and should mention it clearly SO T

06

Q.2 a) Briefly Explain the Charactenstlcs of N—Channel E—MOSFET ' 06
b) Write short Notes on Non—ldcal Voitagc current characteristics 06

&

06
06

o .,.a)Explam abou d)ustablc three termmal positive (LM 317) regulators with
: 06

Aale 06
th mparison of Linear power supply and SMPS 06

4 % % End * k¥

4452706A1 SC42CROG4EAG82DAF494ABE






DR. BABASAHEB AMBEDKAR TECHNOLOGICAL d2~<mwm:<wb02m“ﬁ.m‘
End Semester Examination — Winter 2018

Course: B, Tech in Chemical/Petrochemical Engineering Sem: I11
Subject Name: Fluid Flow Operations Subject Code: BTCHC 303
Max Marks: 60 Date: 5-12-2018 Duration: 3 Hrs,

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.
2. The level question/expected answer as per OBE or the Course Outcome (CO) on which
the question is based is mentioned in front of the question.
3. Use of non-programmable scientific calculators is allowed,
4. Assume suitable data wherever necessary and mention it clearly.

(Level/CO) Marks

Q.1 Solve Any Two of the following, ) 2x6=12

A) Calculate the pressure in kN/m® at the bottom of a mu:o:.om_ tank filled with oil Apply
having a diameter of 2.4 m. The 8@ of the tank is vented to the m»Bomv:Qo
having a pressure of 101.325 kN/m’. The density o». the oil is 922 kg/m’.

B) A C-Eca manometer is womnm used to measure the pressure drop actoss a flow Apply
meter. The heavier fluid is mercury, with a density of 13,600 kg/m’, and the top
fluid is water , with a density of 1000 kg/m’. The reading on the manometer is Ry,

=32.7cm. O&oEmﬁ the pressure differerice in N/m?.

C) -Given the ptessure of | standard atimosphere as 101325 N/nr?, do as follows: Apply
(i) Convert this wawm:_d to water head in meters (take density of water
as 1000 kg/m

(i) Convert this ?Sw:ﬂa to carbon tetrachloride head in meters (take
density of carbon tetrachloride as 1,600 kg/m®)

Q.2 Solve Any Two of the following. 2x6=12

A) Differentiate between Newtonian and non-Newtonian fluids and explain the  Analyze
theological behavior of Newtonian and non-Newtonia fluids (time-independent)
with examples for each type of fluid.

B) Whole mitk at 293 K having a density of 1030 kg/m’ and viscosity 2.12 cP is Apply
flowing at the rate of 0.605 kg/s in a glass pipe having a diameter of 63.5 mm.,
(a) Calculate the Reynolds number . Is this turbulent flow?
(b) Calculate the flow rate needed in m*/s for a Reynolds number of 2100 Ea
velocity in m/s.

C) A pump draws oil (specific gravity 0.8) from a storage tank and discharges it to Apply
an overhead tank, The mechanical energy delivered by the pump to the fluid is 50
J/kg. The velocities at the suction and the discharge points of the pump are 1 /s
- and 7 m/s, respectively. Neglecting friction losses and assuming kinetic energy
’ cotrection factor to be unity, what is the pressure developed by the pump?

4452706 A1 3CL20CSUNSEAG82DAF4A4F9E
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY.
End Semester Examination — Winter 2018

Course: B. Tech in Chemical /Petrochemical Engineering
Subject Name: Chemical vaoonmm Calculation
Max Marks: 60 Date: 03/12/2018

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.

2. The level question/expected answer as per OBE or the OQE.

question ts based is mentioned in () in front of the questit

3. Use of non bS%ESSnEm ,555\, ic caleulators is ntcs ed.

4.

hydrogen, exygen or nitrogen
and weigh it,-and then _2 th

What is that gas?
C) A sample of caustic so
of the flakes.

Understand 04

$04.35% HNOsand 35% Apply 06

Straw betrie c aSE 15%: mo_&m msa wm.x 5:2 To make strawberry jam, Apply 06
crushed strawbe) 8 and: sugar.ar ::xma in'a 45 : 55 ratio and the mixture is
heated:to evaporate. sﬁﬁma nitil awa:m noEmS one tired water by mass. Calculate
how Bm:% ww of mwwévon €5 Da ana to make one kg of jam. (All percentage
and tatio are by 2&%:3
C) An evaporitoris to wnoamon Goo WW\E of dry common salt from a feed solution Apply 06
containing 20% Na€l ‘The: wm: emoved carries 20% of its- weight as’ satirated
brine(The saturated w:nn,,ooam.:m 27% NaCl) Calculate the feed rate to the

evaporator in kg/hr.

Q.3 Solvethe following:

A) The oxidation of ethylene to produce ethylene oxide proceeds according to the Understand 06
equation
10, Hs + 04 2 C3H0 4

4452706A15CA2CB064EAGRIDAFUF TERY
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, L()NERE

Course: B. Tech in Chemical/ Petrochemical Engineering

End-semester Examination - Winter 2018

cot.

Subject Name: Mechanical Operations Subj
Max Marks: 60 Date: 7/12/2018
lnsimcaus.
Solve ANY FIVE questions out of the following \ g
2 The level question/expected answers per OBE or the course outcomes (CO)on whtch the quesmm is haced is
- mentioned in column in front of the questions.
3. Use of non-programmable scientific calculator is allowed,
4. Assume suitable data wherever necessary and mention it clearly. )
__ " co
Q.la) Write a brief note on the importance of unit operation in chen - COLI,
Q.1b) Give brief account of mechanical operations with any two'
Q.lc) Fora sample of sand, the sphericity, densuy and dlametcr

Size of Through On
aperture 6.00 | 4.00
[mm] |
Mass fraction

of particles )

Calculate sauter mean diameter.
tkg/s of a material of comp:
to a product of average si
Q.2b) Discuss in brief about pre

co3

CO2
Q.2c) The following table gis CO3
Sizerang | 1620 | 20-24
in ym
No of
particles 5 2
in range.
i) Calculate. &
ii) Convert these ﬁgures to obtam size distribution on mass basxs and calculate specific surface
assuming specific gravity of particle 2.65.
C gravity= 7.43) is given below CO3
10° | 10/14 14/20 | 20/28 | -28
34 2.0
20 28

q fecd and the overall effectiveness of screen.
Cumulative fraction smaller than D,

4452706A15C42C8064EA682DAF884A6A
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Q.3¢)
Q.4a)

Q.4b)

Q.4¢)

Q.5a)
Q.5b)

Q:5¢)-

' Q.‘Ga‘) |

Qb

Mesh D,, mm feed overflow underflow
4 4.699 0 0

6 3.327 0.025 0.071

3 2.362 0.15 0.43 0
10 1.651 0.47 0.85

14 1.168 0.73 0.97

20 1 0.833 0.885 0.99

28 0.589 0.94 1.00

35 0417 0.96

65 0.208 0.98

Pan 1.00

Draw sketch and discuss the grizzlies considering followi
a) Working principles and working ;
b) Advantages, disadvantages and industrial ap

Give brief account of following with the neat s ¢ 4
disadvantages and industrial application.( ANY.
a)Leaf filter
b)vacuum filter ‘
In the filtration of sludge, the initial perio il CO4 4
capacity, until the pressure difference réaches
this value for the remainder of filtration.: = .
The constant rate operation requires
this period. Neglecting the resistar
cycle time. The time for remo ’
washed.
A cyclone separator 1 CO4 4
144,000kg/day of dust et is 0.4m in
diameter. If size distrik eed gas is as given below,
estimate what % of p
Par.tlcle size | 29+2.1 2.1
inpm -}
Mass fraction. 0.101 | 0.141
Explain briefly the ‘concepts of cross flow filtration. Give the classification of cross flow CO2 4
filtration-processes acc»or\‘d_jng;tp,tp,c'i;r-d;iyingffoyggsi and geparation size range.
Explain the following terms in brief (anytwo) - ‘ co2 4
a)molecular weightcut off 5 - o)
' bjobserved retentio
c)osmotic pressure.
Discuss briefly about conc in cross flow filtration. co2 4
Activated sludge fr treatment facility is to be concentrated from Cco2 6
+2500 mg/ht fo 1000 ntinuous thickner the flow rate to the unit is 2*10° lit/day.
- Determine batch test data given below.
I Time, min 2 3 5 8 12 16 |20 |25
‘Height of interface; ¢ 3701308|230(179]143 J12.2|112 10.7
What ate.the types pattern arises in agitated vesscl, how the swirling can be avoided. CO2 6
Discuss in briefabou Ilers.
Give comparative stud of tubular bowl and disc bowl centrifuge. CO3 6

Fedk¥k End L2

4452706A15C42C8064EA682DAFSB4A6A



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSIT_Y,LONERE
End Semester Examination — Winter 2018

Course: B. T‘ech Sem: HI -
Subject: Advanced Engineering Chemistry Subject code: BTBSC305/BTBSE3404A

Date: 10/1202018 Duration: 3 Hr. oT Marks 60

Instructions to the Students:
1. Each question carries 12 marks.
2. Attempt any five questions of the following. : :
3. Hlustrate your answers with neat sketches, diagram, etc wherever necessary

4. If some part or parameter is nonced to be mlswng you may appropnately assume it.
v : : (COS) Marks

Q.1 Solve Any Two of the following.

a) Write a note on Pitting corrosion. T e e 01 06

b) What is Cathodic protection? Explain methods to minimize corrosion. 01 06

¢) Explain in details various factors aftectmg the rate of corrosion + 0l 06
Q.2 Solve Any Two of the following , : : : ~.,’ o .

a) What are Thermal reactions? Give mechamsm of Cope reaction.. 02 06

b) What 1s Quantum Yield? Fxplam the Photosynthetlc Tedction'of HBr. | -~ 02 06

¢) Explain the term Fluorescence and Phosphorescence with the help of 02 06
Jablonski diagram , ST e A ~

Q.3 Solve Any One of the fol lowmg SR YOS T o 12
a)Describe Condensation polymerization and Co polymemzatton : 03

b) What are the Constituents of plastlc and Explam Mouidmg of : 03
plastic by In}ectlon method v : :

Q.4 Solve Any Two: of the tollowmg 2 :
a) Give the Mechamsm of Isomenzatlon reactxon and BenZIdme 04 06
Rearrangement rcactlon

b) Explain Homolytrc and Heterolytlc bond ﬁssmn thh smtable 04 » 06
examples. .~ - 06
c) Wnte a note on Electromerlc effect and Hyper conjugatwe Effect. 04

Q.5  Solve Any Two. of the following S
a) Explain the laws of Absorption: -~~~ 05 06
{1} Lamberts Mw [11} Beers law [m} Beer-Lamberts law

b) Explam the msh umentanon and workmg of Atomic Absorption 05 06
Spectmphotometer o
¢) Count the number of H-NMR sxgnals and multiplicity of the 05 06

respective s1gr}als in the followmg‘compounds
~ [1} Dichloro Eﬂj’ane [i1] 2-Chloro Prop-1-ene
[ifi] 2-Chloro Butane. 2

Q.6 Solve Any Two of the following
% a) Explain the types of Chromatography. Give the applications of Thin 06 06
Layer Chromatooraphy (TLC).
b) Describe Instrumentation and Applications of Thermo gravimetric
analysis. e
c) Explain thc Prmuplc and working of Gas Chromatography.

06 06

06 06

ke skk End Ho3kok

4452706A15C42C8064EA682DAFBAODEQ






DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE

End Semester Examination — Winter 2018

Course: B. Tech in Chemical /Petrochemical Engineering o ‘-"“Sje:m‘:‘ Hor - '
Subject Name: Chemical Process Calculation ‘ Subject Code: BTCHC 302
Max Marks: 60 Date:; 03/12/2018 - Duration: 3 Hr.

Instructions to the Students:
1. Solve ANY FIVE questions out of the following. :
2. The level question/expected answer as per OBE or the Course Outcome (CO) on whzch the
question is based is mentioned in () in front of the question. :
3. Use of non-programmable scientific calculators is allowed, - .
4. Assume suitable data wherever necessary and mention'it clearly

L ‘(Level/CO) Marks
Q.1 Solve the following. bty
A«ﬁpl’y 04

A) A mixture is 10 mole% ethyl alcohol, 75 mole¢%
mole% acetic acid. Calculate the weight frac
is the average molecular mass of the mlx
a sample containing 25 km ol of ethyl a ’
B) A label has come off a cylinder of a " Analyze 04

one species of gas is contained in the: cyhnder but you don t know whether it is
hydrogen, oxygen or nitrogen. To find out , you evacuate a S liter flask ,seal it
and weigh it, and then let the gas from he cylinder flow into 1t until gauge
pressure equals 1.0 atm. T : .

found to be 13 gm. Roorn*»f
What is that gas"

Understand- 04

Apply 06
Apply 06
Apply 06
téins 27% NaCl) Calculate the feed rate to the
thylene to produce ethylene oxide proceeds according to the Understand 06

2CHO —m>

4452706A15C42C8064EA682DAFOF7ES0



B)

Q4
A)

B)

The feed to the reactor contains 100 kmol CoHa and 100 kmol O, 1))Which i
limiting reactant ? ii) What is the percentage excessof other reactant? 111)""
reaction proceeds to completion , howmuch of the excess reactant will be eft
howmuch C,HO will be formed and what is the extent of reaction?
In a Deacon process for manufacturing chlorine , hydrochlorie
oxidized with air .The reaction taking place is :

4HCL + O,» 2 CL;, + H,O

leaving the reaction chamber.

Solve Any Two of the following.

The dry bulb temperature and the dew point
29°C and 18°C respectively .The barome
Compute
i) Absolute humidity ii) % Relative hu

Data V.P. of water at. 18

Fresh orange juice contam 12 mass-% soli Apply 06
orange juice contain 42% solids \ _ Wa
used for concentration, but: volatlle "co stituent: juice “escap water,
resulting in flat taste .The present process overcomes th1s problem by ypassmg
the cvaporator -with a fraction of fresh ju1ce that enters the “evaporator is
concentrated to 58% solids. and the product is 0 ; by
achieve the desn‘ed final
concentrated Julce p_

Remember 06

Apply 06

melted at its' meltmg p‘o, :
Data for tin: - Molecular Weight- .
Melting point --- 231. 8°C Latent heat of fusion —1720 kcal/kmol
Specific heat of solid tin
C=5. 05-|— 0:0048T (kcal/kmovi)
- Where T is.in degree Kelvin.
Data for Dlphe Diphenyloxide mixture at1.73 kgf/em® a
m o Enthalpy(kcal/kg)
Sensible  Latent Total
120.5 66.5 187.00

. B) Calculate the qnant1ty of heat to be added to raise the temperature of 5 kmol of ~Understand 06

CO, from 25 to 500 9C, Heat capacity is given by the following equation.
p g

cp— 19774+73 375 X 10 T - 56.02 X 10° T2 + 17.155 X 10° T°
4452706A15C42C8064EA682DAFOF7E80



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSIT Y, LONERE
Winter Semester Examination — December - 2018
Branch: B. Tech in Computer Science - Sem.:-TII
Subject with Subject Code: - Digital Electronics & Mlcroprocessor (BTCOC305) A
Date: 10/12/2018 ‘ Marks: 60 . Duration: -3 Hr.
Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following. : :
3. Hlustrate your answers with neat sketches, dzagram etc wherever necessary
4. Assume suitable data wherever necessary and mention it clearly. .
5. Use of non-programmable scientific calculators is allowed.
RS e - (Marks)
Q.1 Solve Any Two of the following. R T = 12
A)  Design basic gates with the help of umversal gates N : = 06
B) Explain different types of Boolean a_lgebra t_heorems o 06
C) Explain different types of K-Map representation. o - 06
Q.2 Solve Any Two of the followmg S St L e 12
A) Calculate F(A, B,C,D) = Ym(0;1,2; 37, 89 10 11 12 13) ; O 06
B)  Calculate F(A,B,C,D)= nM(45678 12) . d(123 11,14). o 06
C) Compare Multipl ‘er and Demultxplexer w1th neat dlagram 06
Q.3 Solve Any T he fol 12
A) Explain w1th neat Ag] am workmg of S-R th-F lo: - 06
B) Writea short’ note on shift regmters and list down ltS apphcatlons 06
C) Writea short n'ot n D th Flop and T th--Flop 06
Q4 'Two of the followmg. S e e 12
A) "leferennate between 8085 and 8086 eroproceSsors 06
B) " Explain with neat dxagram archltecture of 8086. 06
C) m\fExplam the structu " of 8086 PSW , 06
S Q8 ‘Solve Any T wo ot the followmg 12
} A >.'3D1fferent1ate betwes:n ji{e} mapped I/O and memory mapped 1/O of 8086. 06
) 'iExplam with‘neat dlagram workmg of DMA controller. 06
- Explam dlfferent typ'es of mterrupts in 8086, 06
6 Salve Any Two ot' the followmg 12
A) ' Explain i‘w1th exa ¢ different types of instruction set of 8086. 06
) L;EXplam the varlon s ‘Hdressmg modes of 8086. 06
o :'erte a‘short’ note ‘on Procedure and Subroutine. 06
*%% End ¥**

4452706A15C42C8064EA682DAFB7D44C







DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018 |

Course: B. Tech in Computer Engineering Sem: III

Subject Name: Data Structures Subject’ ':e. BTCOC303

Max Marks: 60 " Date: 5/12/2018 Duratlon 3”Hrs

Instructions to the Students:
1. Solve ALL questions. e S
2. The level question/expected answer as per OBE' o r the Course Outcome (C 0) on
which the question is based is mentioned in_front of the questlon S
3. Use of non-programmable scientific calculators-is-allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(Level/CO)  Marks
Q.1 Solve Any Three of the following. Fx :
A) Whatis data structure‘7 Why to study data structure‘? Enh

_tha 'fiva:iatea:s.;d’f 2 Understand 4

B) What is garbage collection? Who w111 run garbage colléctlon program? When 1t Understand 4
will be run? ‘ ; '

0) Suppose multidimensiona‘ Apply 4

array A and B

D) Whatis prtmltlve\“‘data structure" Enllst the dtfferences between prlmltlve and Understand 4
non-prlmltlve data structures

Q.2 Solve Any Two of the followmg

Apply 6
rlthmto find the number of times a given ~ Creating 6
Creating 6
€cl 1on ort‘? Sort the number following numbers in ascendmg order Analyzing 6
S v anda show the worst case time complexity of selection sort is O ().
B ~B)- )“Con der the. stack of size 6 memory cells. Suppose initially stack Evaluating 6

] tams a, b, c, d, e (Top of stack). Then the following operations are executed

4452706A15C42C8064EA682DAF4925ED



O

Q4

A)

B)

C)

Q.5

A)

-B)

in order. Show the stack top and any other situation raised while doing each of S

the operation.

i) Push(f) if) Pop(top) iil) Push(g) iv) Push(h) v) Pop(top) vi) Push() L

Explain how to implement two stacks in one array A[1 .. NJin such
heither stack overflow unless the total number of elements in both th
together is N. Note that, Push() and Pop() operations should b no
time. o

Solve Any Two of the following.

What are the different types of the linked list? Give ad ‘n‘g“""{e“s‘ nd
disadvantages each of the linked list over anothgrl :

Assume, the following letters are inserted into an emﬁty‘:b'jn_ar_yrs\_eafbh‘}tféé i

given order. J, B, D, F, N, K, O. Construct binary search tree and also give = o |

height of the tree.

What is threaded binary trees? Give the threaded binary tree of the
binary tree. e T

Solve the 'fblib&iﬁ‘”g‘ T

What is graph? Find the shortest path using Dijkstra algorithm. Assume starting  Evaluating

node 1s O.

Explain the in brief the following
) red black trec. ii) m-way search tree iii) b tree iv) b+ tree
v) sparse matrix _vi) AVL tree.

% % Xk End Ak

4452706A15C42C8064EA682DAF4925ED
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. DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE '

. End Semester Examination — Winter 2018 n ) _
~ Course: B. Tech in Computer Science and Engg RN S"‘em: IHV"(
Subject Name: Discrete Mathematics Subject Code: BTCOC302
Date: 03/12/2018 Max Marks: 60 Duration: 3 Hrs.

Instructions to the Students:
1. Solve ANY FIVE questions out of the Jollowing, :
2. Use of non-programmable scientific calculators is allowed
3. Assume suitable data wherever necessary and mentzan it clearly

Marks
Q.1 Solve Any Three of the following. A L ‘
A) Letpand q be the propositions “Swimming at the New ;Iersey shore is allowed” and N 4M
“Sharks have been spotted near the shore” respectxve y,“'Express each of these R
compound propositions as an English sentence 2 ~ v
a) ~q bp——q d)f‘ ﬁ P V‘““q‘
B) Explain with example, notations used : d_mathematlcal expressmn to descnbe the | 4M
following terms. B
1) Membership 1i) Subset iii) Equality of two sets iv) Union
C) Use mathematical mductlon to show that 1+5+9+ AAn-3)=n(2n-1),Vn=1,neZ M
D) 1 Ara IS w;-th examp‘le. What isDe 4M
Morgan’s law for quantlﬁ‘ers‘ o ol
Solve the followmg
6M
6M
ee of -t.h”ef"‘r_,,f;ﬂlﬂlb‘véiihg{i_ e W
geonhole prmc1ple thh example o M
4M
4M
4M
«»De‘ ne k u}erigraph and Ha 1ltoman Graph. 6M

')For a glven graph G
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O
Graph: H

B) Find the shortest path in the given graph using Dijkstra shortest path algorlthm R e

Q.5 Solve Any three of the following.
A) Show that a tree with n vertices has n-1 edges

B) Find minimum spanning tree for the glven gra h us1‘ ‘ Prlm s algorlthm" '

C) Define the followiﬁg '

i)Level and He1ght ‘

D) Construct the minimuny sp

iv) Ring

v)sFle ¢

Foreach of the followin determme whether the binary operation * is commutative or

4452706A15C42C8064EA682DAF07C894
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Q.1
A)

B)

O

Q.2
A)

DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018

Course: B. Tech in Information Technology Sem: HI
Subject Name: Object Oriented Paradigm with C++ Subject Code: BTITC303
Max Marks: 60 Date:05/12/18 Duration: 3 Hr.

Instructions to the Students:
1. All guestions are compulsory.
2. The level question/expected answer as per OBE or the Course Outcome (CO) on
which the question is based is mentioned in front of the question.
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(Level Marks
/CO)

Solve Any Two of the following.

What is an algorithm? What is/are the need(s) of writing algorithm? CO1 6

‘What is class diagram? What are the components of class diagram? Explain

with the help of diagram.

What is reference variable? What is its major use? CO5 6

Write a function using reference variable as argument to swap the values of pair

of integers.

i. Enumerate the rules of naming variables in C++. How do they differ from COs 6

ANSI C rules?

ii. Describe the major parts of C++ program. How does a main function in C++

differ from main () in C?

1dentify error in the following program

#include <iostream.h>

void main()

¢

short =2500, j=3000,

cout>>" i +j=">>-(1 +j);

}

Solve Any Two of the following.
A friend function cannot be used to overload the assignment operater =, COs 6

Explain why? When is a friend function compulsory? Give an example.

4452706A 15C42C 8064EA682DAF49EGB]
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A)
B)

Q.2
A)
B)
9]
Q.3
A)
B)

)

Q4
A)

B)

O

DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

End Semester Examination — Winter 2018
Course: B. Tech in Information Technology Sem: III
Subject Name: Programming in Java
Max Marks:60
Hr,

Date: 10-12-2018

Subject Code: BTITE305B
‘ Duration: 3

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.

2. The level question/expected answer as per OBE or the Course Outcome (CO) on
which the question is based is mentioned in () in front of the question.

3. Use of non-programmable scientific calculators is allowed.
Assume suitable data wherever necessary and mention it clearly.

b

Solve the following.
Write any two methods of array list class with their syntax.
Why java became platform independent language? Explain.

State & explain scope of variable with an example.

Solve the following,
Explain inheritance and polymorphism features of Java.

Explain how interface is used to achieve multiple Inheritance in Java.

Define a class and object. Write syntax to create class and object with an

example.

Solve the following,.

Define applet. Write a program to create an applet to display message
“Welcome to java applet™.

Which are the ways to access package from another package? Explain
with example. |

Explain applet life cycle with suitable diagram.

Solve the following,

Write a program to create two thread one to print odd number only and
other to print even numbers.

With proper syntax and example explain following thread methods:
(1) wait( ) (2) sleep( ) (3) resume( ) (4) notify( )

With syntax and example explain try & catch statement.

4452706 A15C42CB064EAG682DAFBCBD19

(Level/CO) Marks
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Analysis
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Comprehension

Application

Remember

Remember
Application

Comprehension

Comprehension

Application

Remember
Comprehension

Comprehension

g

04

04

04

04

04



B)

Q.6
A)

B)

Solve the following.

Give the syntax of following methods of graphics class. Explain their use
with suitable program:

(i) drawRoundReel() (ii) drawPolygon( ) (iii) drawOval( ) (iv)

drawstring( )

Write a applet program to set background with red colour and fore

ground with blue colour.

Solve the following.

Write a java program to copy the content of the file “filel.txt” into new
file “file2.txt”.

Explain byte stream class in detail.

fk & End R
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«  DR,BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

End Semester Examination — Winter 2018

Course: B. Tech in Information Technology Semester: 111
Subject Name: Switching Theory and Logic Design Subject Code: BTITC302
Date:03/12/2018 Max Marks: 60 Duration: 3 Hrs.

Instructions to the Students:
1. Solve ANY FIVE questions out of the following.
2. The level question/expected answer as per OBE or the Course Qutcome (CO) on
which the question is based is mentioned in ( ) in front of the question.
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(COs) Marks

Q.1 Solve Any Two of the following.

A) Convert: : COl 06
i (101111.0011111)2 = (16
ii. BBF)is = (Mo
iii. (756.603)s = (e
. (10.625)10 = (?)2
v. (367.52)s = (7
vi. (247.6875)10 = ( )3

B) Perform the following subtractions in XS-3 code: COl 06
(1) 267175 (it) 57.6 - 27.8

C) A 12-bit Hamming code word containing 8 bits of data and 4 parity bits is read COl 06
from memory. What was the original 8-bit data word that was written into
memory, if the 12-bit word read out is (a) 010011111000 (b) 011101010010 (c)
0100000001017

| Q.2 Solve Any Two of the following.

A) Using the Quine Mc-Clusky method minimize the following logic function: COl 06
F(A,B,C,D)=3m (0,1,2,3,5,7,8,9,11,14)

B) Draw and explain the state diagram, state table for a D flip-flop. CO2 06

C) What is logic family? Explain the characteristics of digital ICs. COl 06

4452706 A15C42C8064EA682DAF087592




Q.3

A)

B)

Q4
A)

B)

C)

Q.5

A)

B

Q.6

A)

B)

0

Solve Any One of the following.

(i) Evaluate the 7-bit composite code word for the data word 0110.

(ii) Evaluate the three check bits C1, C2, and C3, assuming no error.

(ii) Assume an error in bit D5 during storage into memory. Show how the error
in the bit is detected and corrected.

Solve the following expressions with the help of Boolean rules.
(a) X = ABC + AB + ABC

(b) X = ABC + ABC + ABC

(c) AB + AC + BC = AB + AC

Solve Any Two of the following.
Design a 4-bit Gray to Binary code converter.

Convert J-K flip flop into T flip flop. Draw truth table and logic symbol of T flip
flop.

With the help of appropriate diagrams, briefly explain the operation of Moore and
Mealy finite state machines and highlight their differences.

Solve Any One of the following.

Realize the following functions using a PAL with four inputs and 3-wide AND-
OR structure. Also write the PAL programming table.

FI(A,B,C,D)=3Ym (6,8,9,12,13,14,15)

F2(A,B,C,D) = ¥m (1,4,5,6,7,10,11,12,13)

F3(A,B,C,D) = Ym (4,5,6,7,10,11)

F4(A,B,C,D) = ¥m (4,5,6,7,9,10,11,12,13,14,15)

Implement the following logic functions using an 8 X 1 MUX:
i) F(X,Y,Z) = ¥m (0,2,3,5)
ii) F(A,B,C,D) = Ym (1,3,4,11,12,13,14,15)

Solve Any Two of the following.

Simplify the following logic functions and realize using NAND/NOR gates
) FI(A,B,C,D) = ¥'m (1,3,5,8,9,11,15) + d(2,13)
i) F(A,B,C,D)=[1M (1,2,3,8,9,10,11,14) . d(7,15)

What is race around condition? How can it be avoided?

Show how the PLA circuit would be programmed to implement the sum and carry
outputs of a full adder.

kR End Fkk
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE
End Semester Examination - Winter 2018 '

Course: B, Tech. in Electronics and Telecommunication Engineering | ' - Sem: II _
_ Subject Name: Digital Logic design ‘ Subject‘COde BTEXC305
Max Marks: 60 Date:10/12/2018 . Duration: 3 Hr.

Instructions to the Students:

1. The level question/expected answer as per OBE or the Course Outcome ( CO) on v which the questzon is
based is mentioned in () in front of the question.

2. Use of non-programmable scientific calculators is allowed..

3. Assume suitable data wherever necessary and mention it clearly.

(COs) Marks
Q.1 A) Simplify following expression using K-Map - - ' o (1,2) 06
fA4BCD) = Ym (1,4,7,12,13,1415) + d (0,58 o v
B) Implement following using multiplexer .~ - R L2y 06
(a) Half-adder (b) Half-subtractor '
Q.2 A) Design 3-bit synchronous up counter using JKf-ﬂJIp'ﬂop. v (23 06
B) Draw and explain Universal shlft Reglster R ‘(2,‘3)‘ 06
“ Q.3 Draw state diagram for given. sequentlal c1rcu1t shown in ﬁgure L (2,3) 12
1y G-|——Il“—-‘2
b ‘
w ____]"‘"* %,
FFQ
I e
) _
?1*__._..‘__...__ vﬁ___..s u"_—q
Q4 A) Defineandexplain: oo 2) 06
i)Fan in and Fantout . ii) Noise: immunity - iii) Propagation Delay
B) 'Explai_n in brig: ‘e operatlon of CMOS NAND Gate with schematic (2) 06
( djagram | e S
Q5. CA) Implement glvenBoolean funcnons using PLA, PAL and PROM 2.,3) 06

<RI (ABC)» > m(0,2.6,7)
C o CR(ABC)= 2.m.3.4.5 7) |
ST BY - Write VHDL uqde for Mux 4: 1 using dataflow and behavioural 4) 06
' SR ‘,archltecture st ‘le“. A

al circuit ‘Jf(")r Binary Parallel Adder and Subtractor. ~ (3) 06
us 4 bit up counter with clock waveform. (2,3) 06

kKRR KR RFE R FRRRFRHF T he Qe ek ke ek ek ok
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSIT:
End Semester Examination — Winter 2018 :
Course: B. Tech in Electronics and Telecommunication Engineerin
Subject Name: Network Analysis
Max Marks: 60 Date: 07-12-2018
Instructions to the Students:

1. Solve ANY FIVE questions out of the \&RES@
2. Draw figures wherever riecessary. :
3. The level Q:wqmo:\mxﬁnnuw& answer as per Dmﬁ e.x QR Coirse Out eﬁm COFomwh

4. Use of non-programmable scientific cal
5. Assume suitable data wherever necess

Q.1 Saolve the following.

A) In the circuit shown in Fig. 1, aﬂnﬁsﬁn 95,
using mesh analysis.

(WX

®

t5c38V 252-30Y
Ea A ~ Fig1. ‘
B) In nwm‘,nvmhmﬁn ‘showii w obtain the-valuc ¢f thoioad impedance between [06]
the 855»7 X and. Y - for AXIMUM. POWET n,mumman Hence, determine the
‘maximum power absorbed by this Joad;

BTy

H oy X
50 40
15 20" A 70
\
Fig. 2
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End Semester Examination — Winter 2018
Course: B. Tech in Electronics and Telecommunication Engineeri
Subject Name: Network Analysis
Max Marks: 60 Date: 07-12-2018
Instructions to the Students:

1. Soive ANY FIVE questions out of the \.0535%

2. Draw figures wherever necessary.

3. The level question/expected answer as per me or $m Omua.m
the question is based is mentioned in front ¢

4. Use of non-programmable scientific calcul

5. Assume suitable data wherever necessary

Q. 1 Solve the following.

A) In the circuit shown in Fig. 1, mﬁaﬂ:
using mesh analysis.

% 5450A 50
1e

15230V Nahlwaﬂ

..m.w.. .w.. cvﬁumm 9@ <w_. : he-load impedance between [06]
fer. Hence, determine the

wa_is.m noi,am wvmonv& cw z:m _owa
50 |_| 40

15 20" A 0

ERTYs

Fig. 2
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End Semester Examination — Winter 2018

Course: B. Tech in E&TC
Subject Name: Analog Circuits
Date: 03/12/2018 Max Marks:60

-8
C2

%
N

Instructions to the Students: o PO /
1. Solve ANY FIVE questions oul of the following. o7 7.0 2 S RN ‘V .‘ ;&;if’-\

2. The level question/expecied answer as per OBE or-the’ lutcom ;
which the question is based is mentioned in () in)

3. Use of non-programmable scientific calculat

4. Assume suitable data wherever necessary qu

Q.1 Solve the following.
A) Bxplain Block diagram of OPAMP

B) Write Short note on Current Mirror Cireujt

Q.2 Solve the following.

A)  Design the OPAMP circuit hich can ”gifVe\ :‘ Evaluate 06
5Vy A A
B) Draw circuit diagram of In

output voltage

Synthesize 06

Q.3 Solve the following. & =+
A) Draw and Explain cire
operation ‘ S Lol o

B) Compare Schmitt Trigger and-Comparator 2o -

uit diagram of Full Wwe Prec Understand 06

Understand 06

So l‘\},e An yTW() of the following.

Remember 06
Understand 06
Understand 06

Understand 06

Design W»iéh" Bridge Oscillator circuit to have output frequency of 10KHz Evaluate 06

6 Solve the following.

Draw and Exp]dm Block Diagram of PLL Understand 06
Draw and Expldm Band Pass Filter circuit and its Frequency response Understand 06

KRR End K*EwR
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE -
Semester Examination - December - 017

Branch: B. Tech. Mechanical

Subject with Subject Code:- Machine Drawing and C
Date: - 07/12/2018 v

Instructions to the Students
1. Question No.5 is compulsory. Attempt any th;

2. If some part or data is noticed to be missing,
assume it and should mention it clearly,

Q.1. Attempt any two of the following.
a) Tlustrate removed section with an ex:

(12)
(6)
(6)
(6)

(12)
(6)
(6)
(6)
(12)

60 mm stands vertically on its base in

1! The axis of the cylinder is parallel to V.P. and is 30 mm

inder is 12 mm away from the axis of the cone. Draw the
ng-¢iirves of intersection. (6)

0 mm and height 90 mm is resting on the ground on its base with one
0 :the V.P and is completely penetrated by a horizontal square prism of
xis length. the axis of the horizontal square prism is parallel to the V.P and

vertical prism at right angle. All the rectangular faces of the horizontal prism are

he V.P. draw the projections of the solids showing the lines of intersection. (6)

4452706A15C42C8064EA682DAF87DEES



Q.4. Attemptany two of the following.

a) Represent transition fit and interference fit.
b) Show surface roughness value and roughness grade symbol for roughnes
¢) Highlight the advantages of Computer Aided Design and Drafting (CADD
Q.5. Attempt any one of the following.

a) Fig. No.1 shows details of square tool post. Draw sectional fr

also prepare bill of material.
b) Fig. No.2 shows assembly of Non-Retum valve. Draw

1) Body — Sectional Front view and Top view.
ii) Cover — Front view and Top view.

iii) Valve seat — Front view and Top view.
18 "
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018

Course: B. Tech in Mechanical Engineering Sem' llI
Subject Name: Thermodynamics .5 Subject Code: BTMFC305

Max Marks: 60 Date: 10 Dec 2018 o Duratlom 3 Hr

Instructions to the Studerits:
1. Solve ANY FIVE questions out of the following six questions. : b
2. The level question/expected answer as per OBE or the Course Outcome (C()) on whlch the quemon is based’is
mentioned in () in fiont of the question. ,
Use of non-programmable scientific calculator is allowed.

Lo

4, Assume suitable data wherever necessary and mention it clegrly. =~ L
e I (Level/ Marks
)
Q.1 Solve the following: LA : :
A) State Zeroth law of thermodynamics. Differentiate between pomt functmns & path tunctlons . {CO-1) 6
and write at least two examples of each,
B) With the help of simple diagram, explain workmg pnnclple‘"of th'ermocouple and state its «(CO— D 6
advantages. A platinum resistance thermometerhas a tesisfanc 8:0hm at 0°Ciand 3. 8 *
ohrm at 100°C. Calculate the temperatute when thie res" tance it IR : 10 st

Q.2 Solve the following: I T .
A) Show that energy is a property of a- bystem leferen

: (CO-2) 6
properties. State any two interisive: and sxtenswe propeftl‘
B) A steam at 18 bar and 400°C (hi=3251.6, v, = O 1684 (CO-2) 6

inlet area is 0.02 m”. The mass flow Tate of steam through nozzle is:5 kg/s Steam leaves
nozzle at 14 bar with g‘velocﬁy ot 275 m/s. The heat loss from nozzle:is estlmated to be 14

Q.3 Solve the followmg» - :
A) Draw schematic diggtam of a sxmple steam power ‘plant.
cycle,: with the he e dlagram w1th mterence

power, plant ’ ’ : ”
B) An inventor clalms 10; have dws,loped an cng_)mc that takes in 105 MJ at a temperature of 400 (CO-2) 6
oKy re)eas, 42.Ml-a cmperaturg of 200.K, and delivers 15 kWh of work. Check the validity
;of .the mventors‘cl eprcscnt thx@ heat engme with the help of simple schematic diagram.

Explain the Carnot heat engine (CO-2) 6
atuxatxon curve, for a simple steam

4 som Any ONE of the followmg o
Shovv that thu adxaba ¢ mlxmg on two ﬂuxds is irreversible process. (CO-2) 12

”C is‘mixed adladeICd ly with three kg of water at 30°C at atmospheric
' in-éntropy dué to mixing process.
made if any:

; 1 process through a finite temperature difference is irreversible. (CO-2) 12

. Watcr 18 hcatcd at a
tcmptraturc of watt
" “of entropy of water,

nstdnt pressure of 7 bar. The boiling point of water is 165°C, The initial
s 0°C. The latent heat of evaporation is 2066.3 ki/kg. Find the increase
the final state is dry saturated steam.

4452706A15C42CB064EA682DAFB96298




Q.5 Solve the following: Gy o
Exhaust gases from a gas turbine are used to heat water in an adiabatic counter-flow heat™” (CO-4y .
exchanger. The gases are cooled from 260°C to 120°C, while water enters z;t.S ;C,“The flow- | o
rates of gas and water are 0.38 kg/s and 0.5 kg/s respectively. B R
Calculate gain in unavailable energy (exergy loss) due to heat transfe
Cpg=1.09 kJ/kg K, Cp,~ 4.187 kI/kg K, To=25°C) *

Q.6 Solve the following: “ IR S -
A) A closed system of 2 kg of air initially at pressure of 5 bar and 227°C expands polytropically - (CO-3) ¢ w6 0
to a pressure of 2 bar following the law of pV'# = constant, X RIS S S o
(a) Determine work done & heat transfer. L
(b) State assumptions made.

B) Explain, with the help of simple sketch, the principle of ‘throttl}ing calorimetet: (COS) - 6
Explain with the help of h-s diagram, why a throttling calorimeter cannot:me ure the quality. .
of very wet steam. How is the quality of h “jls‘team‘meés“urqd then? . Ty

4452706 A 15C42C8064EAG682DAFBY6298



End Semester Examination — Winter 2018
" Course: B. Tech in Mechanical Engineering
Subject Name; Thermodynamics ‘
© Max Marks: 60 ’ Date: 10 Dec 2018

Instructions to the Students:
1. Solve ANY FIVE questions oul of the following six questions. : ‘
2. The level question/expected answer as per OBE or the Course Outcome (C()) an whlch the quesnon is based is
mentioned in () in front of the question. o ' L
3. Use of non-programmable scientific calculator is allowed.
4. Assume suitable data wherever necessary and mention it clea

(Level/  Marks
/ C0O)
Q.1 Solve the following:
/A) State Zeroth law of thermodynamics. Differentiate betweqn poi

functions & path functions. . (CO-1) 6
and write at least two examples of each. U S

B) With the help of simple diagram, explain workmgp ci théhﬁ'ocoupl‘e:éndj-»stété‘its ‘*;:~~(C‘O-l) 6
advantages. A platinum resistance thermomet it 0°Coand 3.8 :
ohm at 100°C. Calculate the temperatgﬁt’ewWh?
Q.2 Solve the following: S
Show that energy is a property of 3 (CO-2) 6
(CO-2) 6
(CO-2) 6

h a‘ve dwcloped an cnbinc that ‘takés in 105 MJ at a temperature of 400 (CO-2) 6
mperaturc ot 200; K, and delxvers 15 kWh of work. Check the validity

€02y 12

"1s mlxed adlabatxcally with three kg of water at 30°C at atmospheric
1 entropy du¢ to mixing process.

(CO-2) 12

nstcmt pressure of 7 bar. The boiling point of water is 165°C. The initial
0"( The latent hcal of evaporation is 2066.3 ki/kg. Find the increase

4452706A15C42C8064EA682DAFB96298



Q.6
A)

B)

Solve the following:
Exhaust gases from a gas turbine are used to heat water in an adiabatic co
exchanger. The gases are cooled from 260°C to 120°C, while water enters a
rates of gas and water are 0.38 kg/s and 0.5 kg/s respectively. i
Calculate gain in unavailable energy (exergy loss) due to heat trans ‘
Cp=1.09 ki/kg K, Cp,= 4.187 kl/kg K, To=25°C) SE

Solve the following: v ‘
A closed system of 2 kg of air initially at pressure of 5 bar and 227"C expdnds olytropxcally _
to a pressure of 2 bar following the law of PV" B constant,” -

(a) Determine work done & heat transfer.
(b) State assumptions made.

Explain, with the help of simple sketch, the prmc1ple of throttlmg calorlmeten. (CO 5). 6
Explain with the help of h-s diagram, why a, throtthng cal‘orx‘ ‘etgr cannot.me

of very wet steam. How is the quality of su ed'then? -

4452706A15C42C8064EA682DAFBY6298



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE

End Semester Examination — Winter 2018

Course: B. Tech. in Mechanical Engineering Semester III

¥ BTMEC 3()2
Date:03/12/2018 Marks: 60 _ co : Duratlon 3 Hrs.

Instructions to the Students:
1. Solve ANY FIVE gquestions out of the following.
2. The level question/expected answer as per OBE or the Course Outcome (CO) on
. which the question is based is mentioned in ( ) in front of the- question.
3. Use of non-programmable scientific calculators zs permztted
4. Assume suitable data wherever necessary and mentzon zt clearly
St (Level/CO)  Marks

Subject Name: Materials Science and Metallurgy X Subject C_ e

Q.1 Solve the following.

A) Derive the expressions for planar. atom ities on(loo),(ll()), and(l 1~1) (Understand,
planes of both BCC and FCC cry al structur o “ ‘ - coy
B) Explain slip mechanism of pla r 13 conceptual meamng, its (Understand)
occurrence due to the mo .and scréw dlslocatmns and
comparison with twinning AT
Q.2 Solve the following. =~ 12
A) A tension test was conducted on steel spec1men of - dlameter 12.5 mm and (Apply,
' at' | - co2)
s (i "‘)? True fracture stress (1v)
“ tlon in area (vi) Modulus of
(Understand)
12
(Remember)
(Understand)
vo of the following. 12

4452706A15C42C8064EA682DAF087ESB



Q.5
A)
B)

C)

A)

1B)

b

variation of properties with tempering temperature.
Discuss induction hardening process w.r.t. principle of workmg, process
detaxls, advantages, and limitations. o

‘ Understand) A

Solve Any Two of the following.
Describe the procedure of specimen preparation for m

Explain the principle of working of optical‘:
Compare it with electron microscope.

Discuss sulphur print test w.r.t. purpose ‘81gn1ﬁcance procedure" and ,
chemical reactions. : BTN RN

Solve the following. 12

Explain dispersion strengthemng wrt. basic. mechamsm,

critlic'ai factor
advantage, and commercial examples. o '

‘(‘Rﬁ‘é‘rhember)

Describe ultrasonic mspectlon techmque W, rt prmc1ple of workmg, types, (Understand)
and applications. - : i

4452706A15C42C8064EA682DAF087ESB



Q.1
A)
B)

©)

DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

End Semester Examination — Winter 2018

Course: B. Tech in Mechanical Engineering Sem. III
Subject Name: Fluid Mechanics Subject Code BTMEC303

Max Marks:60 Date: 05-12-2018 Duratmn' 3 Hr.

S

Instructions to the Students:
1. Solve ANY FIVE questions out of the following. L : ¥
2. The level question/expected answer as per OBE orthe Course Outcome (COJ on which the
question is based is mentioned in () in front of the question.
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention it clearly.

T (Level/CO)  Marks
Solve Any Two of the following. e : :

State and derive Pascal’s law. : e ¢ .’T_(Remember) 6)
A cubical block weighing 4.5 N and iav g Wiig ’ (Apply) 6)
inclined plane surface making an arlg of’ | 0 - v al'on 1
uniform layer of oil 0.005 cm t '  . f 1the e ectcd‘steady state ’velocn:y ef the block
is 12.5 cm/s, determine visé‘ésxty yf: he oil.. ‘Also-express the kmematlc vw.cosxty in
stokes if the oil has ma _ e f 2
List some occurrences "whlch can’be attributed tovthe physxcs of surface tenswn Set-  (Analysis) (6)
up a relationship ‘bet‘ween‘,‘-surface tension and pressure intensity (in excess of outside
pressure) for a ;li‘gi»lid‘-drop‘le“t‘.“‘ ‘

(Apply) 0]

(Understand) (6)

L Qe fSolve the followmg'questmns

. Derwe the dlfferentlal form of continuity equation in Cartesian coordinate system. {(Understand) (6)

(Analysis) (6)

4452706A15C42CR064EA682DAF4A182C



Q.4 Solve the following questions.

A) State Bernoull’ s theorem. Derive Euler’s equation of motion and from it denve (Understand) “““ ‘ (6) 

Bernoulli’s equation.

B) A horizontal venturimeter with inlet and throat diameters 30 cm nd

‘respectively is used to measure the flow of water. The readin ‘”‘?jo di
manometer connected to the inlet and the throat is 20 cm mercury. Determm lhg‘yat‘é :
of flow .Take C4=0.98 '

Q.5 Solve the following questions.

tanks which are connected by a horlzontal plpe of dxameter 300 mm andvz-'length 400 SO
m. The rate of flow of water through the pipe is 300 litres/s. Conmder;all leses and e o
take the value of £= 0.008 : T el

Solve Any Twa of the followmg questlons

Q.6 |
A) (Apply) (6)
B) (Apply) ©)
displacement thlckness andmomentum thackness
C) What do you understand by the terms drag, lift and coefficient of drag? (Recall) 6)

k% End Sk

4452706A15C42C8064EA682DAF4A182C



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE
End Semester Examination — Winter 2018 <

Course: B. Tech in Electrical Engineering Sem: m
Subject Name: Electrical Engineering Materials Subject Code: BTEEE305A
Max Marks: 60 Date: 10/12/2018 Duration: 3 Hr.

Instructions to the Students:
1. Solve ANY FIVE questions out of the following. e R A g
2. The level question/expected answer as per OBE or the Course Outcome (CO) on whzch the quest,
mentioned in () in front of the question. . o SR
3. Use of non-programmable scientific calculators is allowed. =~ .~
4. Assume suitable data wherever necessary and mention it clearly:” . - "

n'is based is

(L@vgl/CQ) Marks

Q. 1 Solve following questions. ‘ o 12
A) 4
B) : fraction 1n-crystal, LS 5
C) If the interplanar distance for a plane having Miller fidices (1'1 o ) 62 86‘A o cot 3

Calculate the lattice constant ‘a’ | ;  | i -
'f(‘)_R‘ e O R F
C) A certain orthorhombic crystal has aratio-of-a:b:c, of0 430 1 0 377 ' : i CO1 3
Find the Miller indices of faces whose mtercepts are ’k
i) 0.215:1; O 188
ii) :
Q.2 Solve iollowmg que fons, ‘ o : . 12
A) Give the classifi catlo w1th‘ examples for magnetl cr ased ;)"h\;\felative CO2 5
pelmcablllty(p,r) ' ‘ ‘ ” A s
B) Draw and cxplam th ysterems loop for ferromagnetlc materxals What is retentivity CO2 7
and cocrcmty ‘ PRI
B) “ Deﬂné’,magnetic di"p"'_ j m'om'ent &relativépermeabi]ity(p,). Show thatjt < ( 1+Xm Cco2 7
¢ )*,thric' Xm isniagﬁé susuepublhty
Q3 Solve’ following. quesuons o
s ;Av)b Describe the fonndtl}, 1.0f cncrgy bands in solids and explain with proper diagrams, CO3 5
-+ classification of maténals mto conductors and insulators.
B) With refito supexcondu,chwty explain with neat diagrams CO3 7

e MBISanT ffect

). Coopelp 1format10n

: iii} Hi gh temp}super conductivity

4452706A15C42C8064EA682DAFBF8DBB



Q.4
A)
B)

0

Q.5

A)

B)

A)

B)

O

Solve following questions.

Explain Hall effect and its significance. Give its applications

Explain the concept of Fermi-level in case of semiconductors and derive an -

expression for Fermi-energy in intrinsic semiconductor
OR

Obtain the expression for the

i)Total conductivity of semiconductor

ii) conductivity of N & P semiconductors

Solve following questions.

Define Electric dipole moment and explain dlelectnc polarlz tlon and mdlcaf

different types of polarizations , ‘ ,
Derive Clausius-Mosotti relation from first prmc1ples as dpphed 10 dlelectrlc

materials, state the assumptions made

Solve following questions.

Explain the concept of Nano-technology "t\apphes to electrical / electromc

engincering materials. Also state “‘i‘mpprt»a pertles and apphcatlons of Ndn
particles | ‘ _ e ,
With neat diagram explajh the:princip! onstruction and working ‘of\STM:—_

Scanning Tunneling Microsco

Write a short note on carbe nn

4452706A15C42C8064EA682DAFBF8DBB
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNI\(ER:S»,|T’Y,'L_()‘NERE‘ o
Semester Examination — winter 2018 .

Course: Electrical Engineering | - Sem - III
Subject with Subject Code: - Signals and Systems (BTEEE305C)

Pt
Pt

Date: - 10-12-2018 Marks: 60M A L ‘Tlme ;-3Hr.

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following. ‘
3. Hlustrate your answers with neat sketches, dlagram etc., wherever necessary
4. If some part or parameter is noticed to be missing; you may approprzatel ly
assume it and should mention it clearly

. (Marks)
Q.1. a] Explain in detail contmuous and- dlscrete time: domam s1gnal R (06m)
b] Explain in detail Lmear& Non lmear system : | (06m)
Q.2. a] Explain in detail propertles of LT I system = e (06m)
b] Explain the followmg operatlons on 31gnal Epe (06m)
i) Time adv‘ance 11) tlme delay 111) foldmg
Q.3. a]Find the La"plf e T_r"ahstfrflbf the square WaVe shown in figure (06m)
T Fif
[
: l
B b]‘E‘xplalnliri" detail propert“les‘ol Fourier Transform (06m)

Q4 a al Determme Zero: mput response of system described by second order
- -D1ﬁerence equahons . (06m)
B Y[n]-57/6°Y [n-1] +1/6 Y [n-2] =0
R b] Explam in detall state variable equations and matrix representations of the -

B System o (06m)
e QS a).Explain in detall propemes of z-transform (06m)
. b) Explam in detall sampling of the signal | (06m)
Q 6 a) Explam in detaﬂ convolution sum (06m)

b) Calculate the DET of the sequence x (n) = {1, 1,0, 0} ' (06m)

4452706A15C42C8064EA682DAFB91444






DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Semester Examination - Nov/Dec - 2018

Branch: Electrical Engg. e Sem‘.:‘-‘l‘lil '

Subject with Subject Code:- Measurement & Instrumentation (BT EEC304) Marks:60
Date:- 07-12-2018 Time:- 3Hr.

Instructions to the Students

1. Each question carries 12 marks.

2. Attempt any five questions of the following.

3. Nlustrate your answers with neat sketches, diagram etc:, erever nec‘essary PR )
4. If some part or parameter is noticed to be mzsszng, you may approprzately assume zt and should
mention it clearly R :

Q1.  a)Describe Direct & Indirect methods of Measi 6M |
b) Define the Termsf 1. Repeatability 2 Reép: 6M
- 92.  a)Describe the construction, working"bf M ‘6M
b) Explain Instrument Transfonﬁe | ’ 6M
Q3. a) Explain working & application Q-Meter 6M
b) Classify & explain dxfferent methods» of measuring: Low-ﬁ-'Medlum.& |
High resistances ' 2 6M

Q4. a) Coil of 300 M1 Voltmeter has resxstance 500 ohm « & mductanceo .8 Henry. The Instrument read
correctly at 50 Hz ac supply and. take ﬁmA at Full Scale deﬂectlon Analyze the percentage error in

6M

6M

Qs. 6M
6M
6 _, 6M

din; ére positive
atter readlngs"ls obtained after reversing the connections to the current coil of the first

oA OR
1 block diagram of Digital Storage Oscilloscope (DSO) 6M

* %%k End sk K

4452706A15C42C8064EA682DAF8T26EF






DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UN|VERSITY LONERE—. |
Semester Examination - December - 2018 e

Branch: Electrical Engineei‘ing

Subject with Subject Code: Fluid Mechanics & Thermal Engmeenng (BTEECBOS)
Date: - 05-12-2018 -

Sem I[I ,
\Max Marks:. 60
* Time:- 3Hr, -

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following.
3. Tlustrate your answers with neat sketches, dlagram etc., wherever necessary.
4. If some part or parameter is noticed to be mlssmg, you may approprlately
assume it and should mention it clearly :

B e ‘ : , (Marks)
tank_ 1s’ closed by a dlsc of 4m diameter,

> sc and 2 The forque required to
£ » ‘_bove the horizontal diameter
b) Explain methods of describin | d o (6)

, .2m diammeter-at-3.m/s and then ‘boéses through a pipe BC 1.5 m

diameter. At C, the p1pe brancﬁes Branch CD 1s 0.8m m dlameter and carries one third of the flow in AB.
The flow veloc1ty m branch CE is: 2 > m/s Fmd the volume rate of flow in AB, the velocity in BC, the

diamicter of € - (6)
(6)

(6)
(6)

(6)
(6)

" “Q 5. a) Explam worklng of vapour absorption refrigeration system in detail (6)

b) EX| lain desirable and undesirable properties of refrigerant (6)

(6)
(6)

—







DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSIL
End Semester Examination — Winter 2018

Course: B. Tech in Electrical Engineering
Subject Name: Network Analysis and Synthesis
Date:03/12/2018 Max Marks:60

Instructions to the Students:

Solve ANY FIVE questions out of the following. .
Students should note, no supplement will be proyi
Use of non-programmable scientific calculators

o N

B)  Explain the folld 06
i) Independent ai
if) Lumped and distributed
State_and Explai ih case AC 06
circuits
a6
5
, 60. 408 0
8 3
Page 1/3
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